Economics 12 – Spring 2012
Final “A”

Please answer all five questions.  To receive full credit, you must show any work you do to arrive at your answers.  All graphs must be completely labeled.  Good luck and happy holidays.

1. (20) The numbers below represent observations on unemployment and inflation:






Unemployment

Inflation



Year  1

            6%


      4%



Year  2


2%


      6%




Year  3


6%


      8%

a. What model (e.g. Keynsian, Monetarist, rational expectations, etc.) most reasonably explains these numbers.  Explain why.

b.
Suppose instead that the numbers are as below:





Unemployment

Inflation



Year 1



3%


      3%




Year 2



6%


      5%



Year 3



9%


      7%


What model explains numbers like these?
2. (15) Use the investment demand – money demand/money supply model developed 

in class to explain the impact of a fall in the money supply under:

a.
Keynsian assumptions

i.
Explain the slope of both your money demand curve and your investment demand schedule.

b.
Assumptions where policy works


i.
Explain the slope of your money demand curve.

Explain, in both instances, why policy works or does not work.

3. (20) As described in class, the Phillips Curve relationship utilized by the

Keynsians began to break down in the 1970s.  Explain the “death” of the Phillips Curve using:
a. Monetarist (natural rate) theory

b. Rational Expectations theory

c. Supply-side shocks

In each case, draw a well-labeled diagram to illustrate your answer.

Part II – Illustrate each of the above in an AD/AS diagram.  Make sure you indicate the linkage between each of your graphs.
4.
Answer both parts:

a.
Economic growth in the Solow model (as in b) below) is determined by the rate of savings.  A number of other factors, however, may influence growth.  Explain the role of each of the following in determining rates of economic growth:

-Human Capital

-Technology


-natural Resources

b.
The Solow Growth Model can be expressed as:



s Y/N = (n + d) K/N



where:
 s = mps




Y = GDP




N = population




K = capital




n  = growth rate of population




d = rate of depreciation


Find the level of capital/person if:



s = 0.10

n = 0.04



N = 2 million

d = .06



Y = $30 billion



What happens to capital/person if s falls to 0.06

5. (25)
Suppose the Federal Reserve raises the money supply through open-market operations.  Illustrate the effect of such a change in policy in the labor market (W versus L) under Rational Expectations assumptions:

a. Compare this to a circumstance under which labor is “ignorant” and policy works.
Part II – Suppose the Lucas supply function turned out to be:



Y = YLR + 10 (P – Pexp)

a. Use this equation to explain the impact of the policy above when it is fully anticipated

b. Repeat when the change in policy does have an impact – Give 2 circumstances when this can happen

